+VCC VBAT +VCC
STM32F100RBT6
FRB 1; VBATT PBO/ADCSITIM3 CH3
1 VDD_A PBI/ADCITIM3 CH4 —2g
o PB2/BOOTL —¢¢
= PB3/JTDO/TIM2_CH2/SPI1_SCK —=2 PB3(SWO/LEDI)
T PB4/INTRST/TIM3 CHLUSPIL MISO —22 PB4(CS FLASH#)
VSS A PBS/I2CL_SMBAI/TIM3_CH2/SPIL_ MOSI —2¢ PB5(CS _SPI#)
== PBE/I2CL_SCL/TIMA_CHI/USARTL TX —=5 PB6(USARTL TX) N SWD
= PB7/12CL SDA/TIM4 CH2/USARTL RX —2= PB7(USARTL RX) X
PBE/TIM4_CH3/I2C1 SCL/CANRX —2= PB8(GPI012)
» PBO/TIM4_CH4/I12CL_SDA/CANTX ——5 PBY(GPIO13)
= VDD_1 PB10/12C2_SCL/USART3 TX/TIM2_CH3 —== PB10(GP1014)
i VDD_2 PB11/12C2_SDA/USART3 RX/TIM2_CH4 —== PB11(GPIO15) = —
T VvDD_3 PB12/SPI2 NSS/12C2_SMBAI/USART3_CK/TIM1 BKIN —=> PB12(CS ETH#) S =
= VDD_4 PB13/SP12_SCK/USART3 CTSTIML_CHIN —== PB13(SPI2_SCK)
o ° o o PB14/SP12_ MISO/USART3 RTSTIML CH2N —=2 PB14(SPI2_ MISO)
vee TE TE TE TE PB15/SPI2_MOSI/TIM1_CH3N PB15(SPI2 MOSl)
;1% VSS 1 PCO/ADC10 g PCO(GP1004)
5 Vs 2 PCUADC11 o PC1(GPIO05)
25— Vss3 PC2/ADC12 i PC2(GPIO06)
2 VSS 4 PC3/ADC13 i PC3(GPI007) a = 4
= PC/ADC14 —52 PCA(GPI008) PD2(SW_DIP1) — == 3
= PCS/ADC15 —=£2 PC5(GPI009) PC12(SW_DIF2) =
= 7 PCSITIM3 CH1 —2 PC6(GPI010) SWIDIPD
RESET# NRST PC7/TIM3_CH2 —55 7(GPO11) -
o PC8/TIM3_CH3 PC8(GPI016) —_
L= AZEA 80| gooto PCITIM3 CHA ‘5‘2 PCA(GPIOL7) =
T " PCIO/USART3 TX —2> PC10(GP1018)
PAO(GPIO00) 5 PAOKUPUSART2_CTS/ADCOTIM2_CHL ETR PCLUUSART3 RX —2= PC11(GP1019) ;
= PA1(GPIOOL) T PALUSART2 RTSADCLUTIM2_CH2 PCL2/USART3 CK —> PC12(SW_DIP1)
= B PA2(GPIO02) >— PA2/USART2 TX/ADC2TIM2_CH3 PC13/TAMPER-RTC PC13(INT_RTCH)
PA3(GPIO03) 5 PA3/USART2 RX/ADC3ITIM2 CH4
PA4(BUZZER) >— PA4/SPIL NSSUSART2 CK/ADC4 3
PA5(SPI1_SCK) A PA5/SPI1_SCK/ADC5 PC14/0SC32_IN
PAG(SPIL_MISO) S5— PAGISPIL_ MISO/ADCE/TIM3_CH1 7
PA7(SPIZ_MOSI) Z T PA7/SPI1_MOSI/ADC7/TIM3_CH2 PC15/0SC32_OUT
PAS(RESET_ETH#) 75— PAB/USARTL CK/TIM1 CHI/MCO
PA9(GPIO20) J5— PAYUSARTL TX/TIM1 CH2 5
PA10(GPIO21) 72— PALOUSARTL RX/TIML CH3 PDO/OSC_IN
PA11(GPIO22) e PAL1/USART1_CTS/CANRX/TIM1_CH4/USBDM 6 ™
PA12(GPIO23) o PA12/USART1_RTS/CANTX/TIM1_ETR/USBDP PD1/OSC_OUT ANNN—
PA13(SWDIO) o PA13/JTMS/'SWDIO 8MHz
PAL4(SWCLK) =5 PAL4UTCK/SWCLK 54
PA15(CS RTCH) = PA15/JTDI/TIM2_CH1/SPI1_NSS PD2/TIM3_ETR | |:| |
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